
REVISIONS
REV DESCRIPTION DATE BY

1 For Initial Release FEB 26, 2021 JF

4

A

123

B B

A

2 134

airspan networks
469 El Camino Real 
Santa Clara, CA  95050

TOLERANCES:

MATERIAL:THIRD ANGLE PROJECTION: PRODUCT LABEL, C6x ENCLOSURE, MIMOSA

2

1

DO NOT SCALE DRAWING TEMPLATE # 903-00001

WS

DIMENSIONS ARE IN
MILLIMETERS.

ANGULAR: 1
X:     1

X.X:  0.3
X.XX: 0.13

X.XXX: 0.080
HOLE TO HOLE: 0.13

HOLE : +0.08/-0.05
MODEL-DERIVED FEATURES: 0.3

KG0.00
WEIGHT:

DESCRIPTION:

FINISH: DRAWN BY:

SIZE:
B

DWG.  NO.: REV:

SCALE:

1

SHEET:
AS LABELED

615-00349

PROPRIETARY & CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF MIMOSA 

NETWORKS. ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT WRITTEN PERMISSION OF 

MIMOSA NETWORKS IS PROHIBITED.

1 OF 1

FCC ID: 2ABZJ-100-00111
IC: 11823A-10000111

Airspan Networks Inc.
Boca Raton, FL, USA

615-00349

615-00350

PRINT ART TO SCALE 1:1

1. To be used with 615-00350, S/N LABEL, C6x, Mimosa/RIL

DIMENSIONS AND LAYOUT ONLY SCALE 2:1

3.33
1.34

25.00 ±0.20

47.00 ±0.20

3X R2.00

29.00 ±0.20

14.00 ±0.20

2X R1.50

2.804.70

2X R2.50

3X R2.50

3.33
1.34

25.00 ±0.20

47.00 ±0.20

3X R2.00

29.00 ±0.20

14.00 ±0.20

2X R1.50

2.804.70

2X R2.50

3X R2.50

NOTES:NOTES:
1. YELLOW MEANS TRANSPARENT WITH NO ADHESIVE
2. ALL PRINT ON LABEL BLACK (DARKEST POSSIBLE)
3. LABEL MATERIAL BRIGHT WHITE - SAMPLE PROVIDED BY MIMOSA

2. Place 615-00350 on C6x ENCLOSURE in designated pocket then apply
615-00349 on top of it with transparent window showing the sub-label

Label Sample



 S/N LABEL, C6x, MIMOSA/RIL

615-00350
WEIGHT: SHEET 1 OF 1SCALE:1:1

DWG NO.

TITLE:

REVISION

DO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

FINISH:            
  
ADHESIVE:     
MATERIAL: 617-00018  

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

Q.A

MFG

APPV'D

CHK'D

 Jaime

1

 2/25/2021

28mm +/- 0.15mm

13
m

m
 +

/-
 0

.1
5m

m

Code 128 Barcode embedded with
XXYYYYYYYY

Serial number XX-YYYY-YYYY
MAC XX:XX:XX:XX:XX:XX 

MAC Address to be provided by 
Mimosa

Font: Avenir Book 

R1.5

R1.0

S/N: XX-YYYY-YYYY

MAC: XX:XX:XX:XX:XX:XX
Model: C6x   

Assembled in Malaysia 



NOTES: APPLY SEALANT BETWEEN RADOME AND TOP ENCLOSURE

3

6

13 2X

14

12

7

162X2X2X

17

10

18

152X2X2X

4

2 7X

8

513X

11 2X2X2X

1

TORQUE 10 KGF*CM
FOLLOW SEQUENCE IN SHEET 2

TORQUE 20 KGF*CM

PCBA MODEL IS FOR 
REFERENCE ONLY

TORQUE <2 KGF*CM

TORQUE 3 KGF*CM

REVISIONS
REV DESCRIPTION DATE BY

1 INITIAL RELEASE MAY 11, 2021 WS
2 CHANGED TO 1.5MM THERMAL PAD MAY 16, 2021 WS
3 UPDATED ASM BOM, PCBA, ENCLOSURES, AND SCREW TORQUES; ADDED THERMAL PAD 609-00217 JAN 14, 2022 JPC
4 REMOVED 609-00208, UPDATED 609-00165 QTY, ADDED SCREW TORQUE FOR 609-00119 AND 602-00114 MAR 03, 2022 JPC
5 UPDATED BOM WITH REV C1 PCBA; ADDED SPEC FOR 13X BOLT PATTERN SCREW SEQUENCE MAY 13, 2022 JPC
6 UPDATED BOM WITH REV C2 PCBA JUN 06, 2022 JPC
7 UPDATED BOM WITH REV C3 PCBA JUN 13, 2022 JPC

ITEM 
NO. PART NUMBER DESCRIPTION

1 004-00070-XX PCBA, C6x BD 1
2 602-00090 SCREW, M4X12 SOCKET HEAD 7
3 602-00114 SCREW, PAN HEAD, M4X10, SS, WITH EXTERNAL-TOOTH WASHER 1
4 602-00122 SCREW, M3X8 SOCKET HEAD, SS 18-8, NYLON PATCH 1
5 602-00128 SCREW, M3X8 PAN HEAD, SS 18-8, NYLON PATCH 13
6 606-00045 TOP ENCLOSURE, C6x 1
7 606-00046 BOTTOM ENCLOSURE, C6x 1
8 608-00121 RADOME, C5X RADIO 1
9 609-00011 SEALANT, RTV 1 ML
10 609-00119 VENT, M6x0.75, BLK 1
11 609-00165 THERMAL PAD 8 X 8 X 1.5 MM 2
12 609-00206 2.5 MM O RING, C6x 1
13 609-00207 THERMAL PAD, 14*9*1.5 MM 2
14 609-00209 THERMAL PAD, 11*11*1.5 MM 1
15 609-00210 THERMAL PAD 5.5 X 5.5 X 1.5 MM 2
16 609-00217 THERMAL PAD, 8 X 3.5 X 1.5 MM 2
17 615-00349 PRODUCT LABEL, C6x ENCLOSURE, MIMOSA 1
18 615-00350 S/N LABEL, C6X, MIMOSA/RIL 1

4

A

123

D

C

B

2 14 3

C

B

A

D

airspan networks
3150 Coronado Dr, Santa Clara, CA 95054

TOLERANCES:

MATERIAL:THIRD ANGLE PROJECTION:
ASSEMBLY, C6x PASSIVE 
POE RADIO, MIMOSA

2

1

DO NOT SCALE DRAWING TEMPLATE # 903-00001

WS

DIMENSIONS ARE IN
MILLIMETERS.

ANGULAR: 1
X:     1

X.X:  0.3
X.XX: 0.13

X.XXX: 0.080
HOLE TO HOLE: 0.13

HOLE : +0.08/-0.05
MODEL-DERIVED FEATURES: 0.3

G
WEIGHT:

DESCRIPTION:

FINISH: DRAWN BY:

SIZE: C

DWG.  NO.: REV:

SCALE:

7

SHEET:2:3

010-00162

PROPRIETARY & CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF MIMOSA 
NETWORKS. ANY REPRODUCTION IN PART OR AS 

A WHOLE WITHOUT WRITTEN PERMISSION OF 
MIMOSA NETWORKS IS PROHIBITED.

1 OF 2840
Label Location



 113.4 

 67.4 

 177.7 

12

13

13X BOLT PATTERN SCREW SEQUENCE
STAR PATTERN FOR BOLTS 1 THRU 11
FOLLOWED BY ABOVE SEQUENCE FOR 12 AND 13

4

A

123

D

C

B

2 14 3

C

B

A

D

airspan networks
3150 Coronado Dr, Santa Clara, CA 95054

TOLERANCES:

MATERIAL:THIRD ANGLE PROJECTION:
ASSEMBLY, C6x PASSIVE POE 

RADIO, MIMOSA
2

1

DO NOT SCALE DRAWING TEMPLATE # 903-00001

WS

DIMENSIONS ARE IN
MILLIMETERS.

ANGULAR: 1
X:     1

X.X:  0.3
X.XX: 0.13

X.XXX: 0.080
HOLE TO HOLE: 0.13

HOLE : +0.08/-0.05
MODEL-DERIVED FEATURES: 0.3

G
WEIGHT:

DESCRIPTION:

FINISH: DRAWN BY:

SIZE: C

DWG.  NO.: REV:

SCALE:

7

SHEET:2:3

010-00162

PROPRIETARY & CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS 

DRAWING IS THE SOLE PROPERTY OF MIMOSA 
NETWORKS. ANY REPRODUCTION IN PART OR AS 

A WHOLE WITHOUT WRITTEN PERMISSION OF 
MIMOSA NETWORKS IS PROHIBITED.

2 OF 2840


	010-00162-rev-07-2022jun13.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View11

	Sheet2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View12



